Wogrmup

1) You are training for a marathon. You start running 3 miles a week and then each
week increase it by 2 miles. or exponentlaP What would be the domain?

Write it in words and set notatio xAalues — ueells
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2) You have $4000 in an account that gains 5% interest every second of every
minute for the rest of your life. Linear orWhat would be the domain?
Write it in words, interval and inequality metation
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4. You invest $4,000 in a company and earn a 5% profit

at the end of each year
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5. Joe has a jar of 300 Reece’s pieces. Every hour he

reaches in the jar and gets ten pieces and eats them

quickly. 3 20
|O

Equation: | — BOO - \OX
J

Circle One: Llnear xpone‘rf{lal Neither

\v

Circle One: | Continuous

Domain? -H’ZS
£0,1,2..303

e X
g%f;
£0,0:2.. 303




6. X |y 3 Circle One: Linear @Neither
0|4 N
1]12 7 Zé 3 Circle One: Contmuous
2367
3| 108 X3 Domain?

\l\_}

L&

*leaet o q\(‘(a-]’/S'('

Equation: _ U= ‘2(_5% ] 50, 'lz 3§ g‘% '

7. Cashiers | Items scanned Circle One: @ Exponential Neither
1 20 N 420
2 40 % 420 Circle One: Continuous
3 60 N 420
= ‘o .
4 Domain? @SNC‘F—S ?llzlgjl‘/g

Equation: ()):: ZOX %tzmof(\(t%? /‘?N\% - Hems &&”Md« EZO[ L}OI wl8Q§

L
8. Circle One< Linear}Exponential Neither
nnInInne ﬁ@ OY\ Circle One: Discrete

------ ; Domain?

o U= XY _ep LX< 00

(hint: make a tab,lle from the points on the graph)
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(hint: make a tah[e’from the points on the graph)

/\
10. Year | Profit Circle One: Linear@either
0 [100 4 w7
1 200 4 X Circle One: Continuous
2 400 X Z
3

800 | X<

oron Y=200(2) TR £0,1,2.2%




